EREER |
HEEEHRS (ERH
EREPRECHERELRR

BERINT+RYE | mEm

WO IE Y UK 1 S R KR
R ELREREERENRELR

ﬂ

ot

= (B4

FAYEAQENKS 4o HR°

2 5 0 e
$EREERK )

+REMERF) WITFNKKBREFRI O RPYLBM O K[ @
S

ERKHE I o-iF

Sl RAKQ o U HE -

BREIQ1H

T B IE R 137, 273 km
SRR E R 39 km N
AR 2L R T R K 1,508 km
HFHR v 7 AREE 8, 339 ws_
TP E B R IE R 137, 346 km

H e I E B T & 39 km .




M_JWM\%A\/ _N_,NWM,WWMWW H“%WH WB
[& R v 7 AKIE R 8,005 km
:
N E Y R |2 AN 1.5M 1.5M or 2M
:
N B A8 H R AR 3 X A 1.5M —
:
H T A A ARG B X A 8 M 1.5M or 8 M
:
Hp T AS R AL B X A 8 M —
:
s AaxRry MEE 1 EARZEER 40. 3 A/ BR
g Aax 7 hEEE 1 OB LR K EE R 38. 2 A BR
s Aaxy PEE1 =Y NEIR 7.9 A/ 2=}
S AN B WY 1. 44 m’/ 58
s xAaxy NEE1T 1745 R REEK 10 A




7 m R ax g bAGE LRI E R 40. 3 A B
VA= = /AN S8 W N 38. 2 A /B
smAaxy MEEL =Y FER 7.9 A=k
ZE = I SN 3 T 1. 44 m’,/ 2
s Aaxy NEE1TA 7 Nk 10 48
& Hb B R A B R 2 (AR aE) . 7952 -
M E AT R S B AR E (FARIR) . 7189 —
M B A RS E R Ca FIR) . 7449 —
- i A R A R AR B (R . 8872 —
- B R R A OB AR 2 (B IR . 7103 —
- A R R E AR B (LT IR L7770 -
R R AR E AR B (R R . 7654 -
B B R IE AR 2 (R R . 7500 -
& Hb B R A B AR 2 (B R IR L7721 -




- B fif BRF R AR IE AR RX

(15 IR

L1713

- i B fiff BRf R AR IE AR 2K

(Fr £ &)

. 8602

- 1 B A BSE R LE £R 2K

(FHER)

L8727

- 1 B A SR R LE £R 2K

(R UAR)

. 9084

- 1 B A SR Rl LE AR 2K

(i 28 )11 )

. 9059

- 1 B A B Rl IE R 2K

(BT 78 %)

. 8201

- B B Rl OE AR 2K

C& )

. 8418

- 1 A B Rl IE £R 2K

(A1 B

. 1845

- B fif BRF R AR IE AR EX

(f I B

. 71667

- i B fiff BRf R AR IE £R A

QUEDY

. 8069

- 1 B A BSE R LE £R 2K

(KB

. 71954

- 1 B A SR R LE £R 2K

(g B2 7% )

. 84256

- 1 B A B Rl LE AR 2K

(e i B )

. 8699

- 1 B A B Rl IE R 2K

(3% 50 1)

. 9372

- B A B Rl OE AR 2K

(ZHEK)

. 8462

- 1 B B Rl IE R 2K

(B

. 8865




- B fif BRF R AR IE AR RX

CHUER )

. 8810

- i B fiff BRf R AR IE AR 2K

(R B )

. 8752

- 1 B A BSE R LE £R 2K

(. JoE )

. 8843

- 1 B A SR R LE £R 2K

(mEE)

. 8586

- 1 B A SR Rl LE AR 2K

(Fn gk i 5

. 1523

- 1 B A B Rl IE R 2K

(S )

L1329

- B B Rl OE AR 2K

(5 AR )

. 1888

- 1 A B Rl IE £R 2K

QENIERY

. 8429

- B fif BRF R AR IE AR EX

(I ey )

. 8154

- i B fiff BRf R AR IE £R A

Qiig=p-y

. 1453

- 1 B A BSE R LE £R 2K

(fr8 =5 IY)

. 6645

- 1 B A SR R LE £R 2K

(FJIE)

L1271

- 1 B A B Rl LE AR 2K

(5% i )

. 8147

- 1 B A B Rl IE R 2K

C=E Y

. 6464

- B A B Rl OE AR 2K

(i ] J%)

. 8556

- 1 B B Rl IE R 2K

(e )

. 7484




- 1B A B R A IR £R R (R IR IR 0.7953
- 1 B SR R A IR AR AR (AR AR IR) 0.8395
- i A R A B AR B (R4 IR 0.7958
- b B PR S E AR B (R IR R 0.8325
ot B A R R E£R B (IR R IR 0.7733
- B PR SR E AR B (AR IR 0.9050
Bl (RaBi) REHEL=xR 0.001325
B fiaxfi O AFESHEE) b RE R =R 0. 06580
Bl fm (TPaksc#arl) g ai 0.07753
B flixfi (ishiREs) R HREREL R 0.03467
B flaxfm (i sREE) e RER =R 0.01181
Bl i fi (o MEARBEAK)  r R B R 0.07978
Lwm Ay BRI R 0.007978
Hom A b A AR 0. 006757
I B R R A E AR AR (AR aE) 0.7946




- B fif BRF R AR IE AR RX

(75 #& B

. 7044

- i B fiff BRf R AR IE AR 2K

e F )

. 71389

- 1 B A BSE R LE £R 2K

(e )

. 9071

- 1 B A SR R LE £R 2K

(B IR )

. 6839

- 1 B A SR Rl LE AR 2K

QUFE32Y

. 7688

- 1 B A B Rl IE R 2K

(f 5 )

. 71838

- B B Rl OE AR 2K

(7R 3l )

. 7403

- 1 A B Rl IE £R 2K

(43 A )

. 71628

- B fif BRF R AR IE AR EX

(5 JR)

. 7630

- i B fiff BRf R AR IE £R A

(Fr £ &)

. 8616

- 1 B A BSE R LE £R 2K

(FHER)

. 8761

- 1 B A SR R LE £R 2K

(HAR)

. 9309

- 1 B A B Rl LE AR 2K

(i 28 )11 )

. 9100

- 1 B A B Rl IE R 2K

(BT 78 I

. 8052

- B A B Rl OE AR 2K

C& )

. 8405

- 1 B B Rl IE R 2K

(A1 B

. 71840




- B fif BRF R AR IE AR RX

(f I )

. 71538

- i B fiff BRf R AR IE AR 2K

QUEDY

. 7914

- 1 B A BSE R LE £R 2K

(KB

. 71835

- 1 B A SR R LE £R 2K

(g B2 7% )

. 8301

- 1 B A SR Rl LE AR 2K

(e i B )

. 8623

- 1 B A B Rl IE R 2K

(3% 50 1)

. 9491

- B B Rl OE AR 2K

(ZHK)

. 8320

- 1 A B Rl IE £R 2K

(68 5

. 8839

- B fif BRF R AR IE AR EX

CHUHR )

. 8873

- i B fiff BRf R AR IE £R A

(R B )

. 8838

- 1 B A BSE R LE £R 2K

(. Jo )

. 8832

- 1 B A SR R LE £R 2K

(mEE)

. 8565

- 1 B A B Rl LE AR 2K

(Fn R i 5 )

. 71389

- 1 B A B Rl IE R 2K

(5 B

L1175

- B A B Rl OE AR 2K

(J5 AR )

L1739

- 1 B B Rl IE R 2K

QENIERY

. 8367

N7



- A R R A B AR B (R B IR 0.8152
-t B A R AR B AR 2 (1L B BR) 0. 7340
-t B A AR A B AR R (PR U 0.6577
- b BT R SR E AR B (R IR 0.7165
- B PR SR E AR B (BRI 0. 7989
- 1 B PR SR IE AR B (IR 0.6369
- i B RE A IR AR B (f B B 0.8611
- B AR A IR AR R (1 B ) 0. 7339
- 1B A R R A IR £R R (R IR IR 0.7874
- 1 B SR R A R AR AR (AR AR IR) 0.8394
- i A R A B AR B (R4 IR 0.7894
- b B A PR S IE AR B (R A IR 0.8220
- B R A B AR AR OFE R S R 0. 7546
- 1 B PR SR IE AR B (P AR IR 0.9217
ikl (REEH) XIRER 0.001362
Bl izl (I AFE k) xR ERLs 0. 05965




Befil i i (ks 4gk) b 0.07308
Bt i i (Hishaes)  kF4E 0. 03460
BEtaxf| (TTANMRKE) XTRE 0.01173
BS e I (5 08 I A B A0 0.07832
&Y xHiE kR 0.007803
E A T kAR b 0.006548
WY xR E R R 0.07290
P K NV E iR E =& 0.0007579
HUkf B BH B R 0.0001260
TH, &HEEOEsn s RER TR 0. 005106
R EEEE (KB 7 by =7) S REFEELR 0.01596
HBIZEE & E (£ Ofh o HEIEE E X P B R 0.004531
WY xR ER R 0.07021
B M OY 3 X P& R R 0.0007295
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Bl kAL 0.0001226 -
TH, &HEROEM T &REHEER 0.005265 |
WIEECEE (KB 7 by =T) WEEREIR 0.01524 -
EEEECEE (TofOWIPEEEE) IRERHELR 0.004634 —
HL0° _
EREBEESCHNX S 0N HL°
M 403 (B6 KK HHETITHWSEE
HoOH o E Hofr

IMNFE AR R 2B RERLE (ZREK) -8.007 = A b —
IMNFE AR R 2B REHEEE (—REK) 0.04180 —
pAIINE R W) [N EIR T SR U T S ol ¢ 638 M/ [Hl#
BN 3B A2 4 5% 0 1E RF BRI M B o s r (dbvig B ) 267,782,770 1]
MAZELRBEEATEF R ERRE2E (FHR) 253,369,427 M
MAFE LR EF R ek 2®E OCFFR) 262,635, 147 M
INON 3 A 0% 0 8 T R B b R Ok e (R SRR 274,989, 442 M
INON 3 A 4 b 0 8 e R B b R PR e (BK IR 258,517,049 =

- 11 -



NE R ¥ X SN RN i &7 QI Ay 266, 753, 245 M
NN 28 A2 #a 5% A0 18 R R0 e i pr =l (RS IR 270,871, 344 M
NN B A2 AR 0 0 T B i) e R R s B (R IR 285,284, 687 H
NN F A2 AR 0 0 T B Bl e R ok 2 B (5 R R 282,196, 113 H
NN 38 A2 #a 8% 0 08 RF R 5l e xR s B ORE S IR ) 278,078,015 H
NN 38 A2 #a B 0 08 RF R O b e o e B (B B IR 298,668,506 H
NN 38 A2 #4 8% A0 08 RF IR0 e e e e e (T 3E B 300,727,555 i
NN 38 A2 #a B A0 08 R RO e e ok = B (R AUER) 321,318,045 i
NN 28 A2 #a 5% A0 T8 RF R 00 e i ok el (R R IR 301,757,079 M
JRON 28 A2 #4 8% A0 8 R R0 e e pr =l BT TR IR ) 266, 753, 245 M
NN B A2 AR 0 0 T B i) e Rk ok 2 (& [ R 286,314, 211 H
NN F A2 HA R 0 0 T B Bl e Rk ok 2 B (a0 )1 IR 287,343,736 H
NN 38 A2 #a 5% 0 08 RF R 5 b e R s B (6 JE IR ) 268,812,294 H
NN 38 A2 #a B 0 08 RF R 5 b e o s B (1 BL IR 296,609, 457 H
NN 38 A2 #4840 0 R IR 0 e e e e e (R 3P IR 283,225,638 i
NN 28 A2 #a 8% 0 28 RF Rl ok 4 (g R R 283,225,638 i
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JNON 28 A2 #a 5% A0 18 R R B e xR s B (R B B ) 295,579,932 M
JNON 28 A2 #4 5% A0 18 R R 00 e o e B (3 IR 284,255,162 =
NN B A2 HA B 0 0 T W i) e Rk Pk 2 (= R 283,225,638 H
NN FB A2 HA B 0 0 T B ) e Rk ok 2 (R E R 272,930,393 H
NN 38 A2 #a B 0 08 RF R 5 e e ok s B (U D ) 268,812,294 H
NN 38 A2 #a B 0 08 RF R e e e e B (R BROF) 285,284, 687 H
NN 28 A2 #4 8% A0 08 R IR 5 e xR s e (Je JE B ) 273,959,917 i
NN 28 A2 #a 8% 30 2 R Rl b i ok = (SR BRI 272,930,393 i
NN 28 A2 #4 5% A0 T8 RF R 00 e oo (AR R 276,018,966 M
JNON 28 A2 #a 8% A0 8 RF R0 e e pr =l (U BB 251,310, 378 M
NN B A2 AR 0 0 T B ) e R ok 2 B (R AR R 250, 280, 853 H
NN F A2 AR 0 0 T B Bl e R o 4 e (R R ) 262,635, 147 H
NN 38 A2 #a 5% 0 08 RF R 5 e e o 2 B (IR B ) 252,339,902 H
NN 38 A2 #a B 0 08 RF R b e pr e B (1 B IR 260,576, 098 H
NN 28 A2 #4 8% A0 08 R IR 5 e e o e e (TR IR ) 268,812, 294 i
NN 38 A2 #a 5% 0 08 RF RO b i ok = ()1 272,930,393 i
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NN 3B A 4 b 0 8 e R B b AR Ok e (B R R 263,664,672 =
NN 3B A 4 0% 0 e R B b R Ok 2 (i Jn R 263,664,672 =
NN 2 28 #4108 T IR OB b 3 Or A B (R [ B ) 263,664,672 ]
NN & 22 #4110 08 R I OB i B pr B (2 IR 260,576, 098 ]
NN A b 1 B T R e e R 2B (R IR R) 252,339,902 M
TN 5 A2 6 4 T 38 T B 00 i 3% PR 2 B (RE AR IR 249, 251, 329 ]
N F AR B R e ke 2% (Ko R) 251,310,378 M
NN & 22 #8028 R IR OB e AR Pk 2 B (R IR IR ) 247,192, 280 =
NN 3 A 4 b 0 8 T R R e A ok 2 (BRI & IR ) 246,162, 755 =
NN 3B A 4 b 0 8 eF R B hE AR Ok e (P AR R 233,808,461 =
ok A2 A B i R PR R B kT IR BH LR 0.04260 —
36 38 & i 5 PR 4 B o O B b R 0.02472 —
AEZNT =T VIR 1knY 720 exfae®d (LiEE) 148, 195 M km
AEZNLT =T VIR 1Y exHfe®E (FHK) 140, 316 M km
ARV =T VR 1TknS -0 Ektkaed (8 FR) 145, 381 M/ km
AZNLT =T VIR 1k e ERfedE (FHE) 152,135 M/ km
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A BNV =T )VIERE 1 D fEER PR A E (RKHER) 143,130 M/ km
A BNV =T )VIE R 1 D ek 2 ®E (LB R) 147,632 M/ km
A BNV =T VIR 1 D iR Ok 2 E (s R 149, 883 M km
ARV =T VIR 1 D Rk PR B (R R 157,763 HM km
A BNV =TI R 1 D e Pk 2 (R R) 156,074 M km
A BNV =TI R 1 D i Ex e 2B (RIS R) 153,823 M/ km
AAE NV =T VIR 1 D b Ex Pk e (B R R) 165,079 M km
A BNV =T )VIERE 1 D i Ex e 2 (T HER) 166, 205 M/ km
A BNV =T )VIE R 1 D ER PR A (R A 177,461 M/ km
A BNV =T )VIE R 1 D Ex PR A (RS 166, 767 M/ km
A BNV =T VIR 1 D i Ex Ok e (B ¥ R 147,632 M km
ARV —TVIEE 1 D e Rk PR A E (F R 158,325 M km
ABE VT =T VIR 1 DR 2 E CaIlR) 158, 888 M km
ARV =T NVIEE 1 D fi e PR (6 JE IR 148,758 M km
A BNV =T VLR 1 0 fEx PR e (ILFLR) 163,953 M/ km
ABE NV =T VIR 1 DR R 2 (RER) 156, 637 M/ km
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ABE NV =T VIR 1 D hE R Ok A (i B 156, 637 M/ km
A BNV =T )VIE R 1 0 hE R e B (R R 163, 391 M/ km
AZNT =T IER 1 D R R e (IR 157,200 M/ km
AN =T INVIER 1 D i 5% PR 4 K 156,637 M, km
AA N —T VR 1 D i Ex Pk A 151,009 HM km
AENVT =T NVIEERE 1 D i e Ok 2B (RLHED ) 148,758 M/ km
A BNV =T VLR 1 0 Ex PR = (KRIRAT) 157,763 M/ km
ARV —T VR 1 D e B% PR A (T B 151,572 M/ km
ABE NV =T VIR 1 DRk EEHE (BERE) 151,009 M/ km
A BN =T VIR 1 0 hE R e (R ko b R 152,697 M/ km
A BNV =T VIR 1 D ER PR e (R EUR) 139, 190 M km
AB NV —T VR 1 D e xR A (ERE) 138,627 M km
ABE VT =T VIR 1 D hE xR 2 (R bR 145, 381 M/ km
A BNV =TI R 1 D Wi ek e 2 (L& R) 139, 753 M/ km
A BNV =T VIR 1 Dk 2 E (o R) 144,255 M/ km
ABE NV =T VIR 1 D eIk 2 E (fEER) 148, 758 M/ km
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ABENVT =T NVEERE 1 D ohE xR e E (B 151,009 M km
A BNV =T VIR 1 D ohE R PR e B (B bR IR 145, 944 M km
A BT =T )VIE R 1 D ER R A (m AR 145, 944 M km
A B —T AR 1 Do E PR A (B MR 145,944 M km
AN =T INIEE 1 D ohE xR e E (EER) 144, 255 M km
ALV —T AR 1 D i Ex Pk 2 (R IR R 139,753 M km
AL NI =T VR 1 D MR PR e (BE AR IR 138,065 [ knm
ABE NV =T VIR 1 D R PR 2 (Ko IR 139,190 M/ km
ABE VT =T VR 1 D ohE kPR e E (= IR IR 136,939 M km
ARV =T VIR 1 D ek 2®E (BIEER 136, 376 M km
ABE VT =T VR 1 0 hE R e = (PR IR) 129,623 M km
AB T =7 I AF R Y -0 KR E M 8] #
MAFRN T =7 VIE R 1 kms 72 V) Ji 5% PR 2 & 28,719 M km
MAFRN T =7 VIE R 1 km 72 U i 5% PR 2 & 27,1921 M/ km
MANRNE T =7 VIR 1 kn 72 0 fii 5% k& % 28,174 M ./ km
" D

MAZRKTr —7 VR 1 knY 72

=
Ko

PE

29, 483

\
/

M km
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MAFRN T =T VIEE 1 D f B PR A F Bk B R 27,738 M/ km
MARN T —T NVIEE 1 D f % PR A B (1R 28,6101 M km
MARN T =T NVIEE 1 D ff B PR A (f@ R R 29,047 M /km
MAZRNTr —T7 VR 1 D i ER Pk e (KR 30,574 M/ km
MARN T =T NVIEE 1 D M % PR A (B R IR 30,246 M knm
MARN T =T NVEE 1 DM PR (BERS IR 29,810 M/ km
MARNTr =7 VIEE 1 DR PR 2 (B ER) 31,992 M/ km
MARNE T =7 VIR 1 D e Pk (T %R 32,210 M km
MANFRIE o —T7 VIt R 1 D Ex PR A (R AHED) 34,391 M/ km
MARNETr —7 VEEER 1 Y i E% PR H 32,319 M knm
MARN T =T NVIEE 1 0 B B PR A (HT R 28,6101 M km
MANRN T —7 VI E 1 D e xRt (& IR 30,683 H km
MAFZRN T —7 VI E 1 D M R (A IR 30,792 M knm
MARN T =T NVIEE 1 D M % PR (@R IR) 28,829 M/ km
MAFRNE T =7 VEE 1 D R PR e (AL R 31,773 M /knm
MARNE T =7 Ve R 1 D R R 2B (R 2R 30,356 M km
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MARN T =7 NV E 1 D iR PR A (il R R 30,356 H km
MANFRIE o —T7 NWVIE R 1 D e e B (i R 31,664 M/ km
MAZNr —7 VAT E 1 D RO E (F ) 30,465 M knm
AR T =T VIR 1 D Rk PR A (= FER) 30,356 M km
MAFRN T =7 VIR 1 N TR R ¢ 29,265 M km
MAFRN T =T Mk R 1 D i Ex e B (RCHEB ) 28,829 M km

AR —T7 VIEE 1 D i Ex PR B (R BORT) 30,574 M km

MARNET =T NVIERE 1 D i 7 P A 29,374 M/ knm
MANRINE T —7 VR 1 D i PR A 29,265 [ km
MARNETr =7 VIR 1 D i ER PR B (FnEk R 29,5921 M km
AR T =T VIR 1 D bRk R e (S ER) 26,974 M km
AR T =T VIR 1 D ik R e (B R R) 26,865 M km
MAFRN T =7 VIER 1 D h e PR B () ) 28,174 M/ km
MAFRN T =T VIE R 1 D i Pk B (IR R 27,083 M km

AR —7 VIEE 1 D bE Rk PR A (1B R 27,956 M km

AR —7 VIEE 1 D bE Rk R R (fEER) 28,829 M knm
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MAZRNTr =7 VIiER 1 D Ex PR (B 29, 265 M/ km
MAZRN T =7 VIR 1 DR PR e (IR 28,283 M/ km
MARNr —7 VIiEE 1 0 Jie g% AR (F R 28,283 M/ km
MAFRIE T —7 Witk R 1 D i ER e e E (B IR ) 28,283 M/ km
MARN T =7 VER 1 D M PR (EE ) 27,956 M/ km
MARN T =T NVEE 1 D MR (R IRR) 27,083 M/ km

MANZRIN T —T7 VIR 1 D M A PR (AR AR B 26,756 M/ km

MAZRN T —7 Vi E 1 DR R (KR 26,974 M /km
MANFRIE o —T7 VIt R 1 D ER PR e (IR 26,538 M/ km
MAZRN T =7 VIiER 1 DRk PRt (EIRE R 26,429 M/ km
MAFRIE T —7 VIiE R 1 D ER PR A (PP IR ) 25,120 M/ km
MANFRIET —7 v A& E Y 0 ik Pk 2 & 224 M /1B #R
FikERE T — T AVIER 1TknY 720 ek e® (dbiEE) 169,104 M km
hiERE S — T VR 1 kmS 72 0 fERk R 2l (FH A& R) 160,031 H ,km
FRHRE =T VIR 1 knY 2V iR A2 (A FR) 165,864 M km
Pk R =T VIR 1 knY 72 0 fi ek 2 (T IR) 173,640 M/ km
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FRE T VR 1 D R PR (BKHE ) 163,272 M/ km
ok R e — T LV EE R 1 D f 3% PR A B (R 168,456 M km
kR e — T VIE R 1 D i 5% R A (@R R 171,048 M /km
kR e — T VIE R 1 0 it 7 R R (KR 180,121 M /km
FER S — T VIR 1 D M PR B (oK R 178,177 M,/ km
FkR S — T VR 1 D M PR B (FE S IR 175,585 M, km
HRkERNE S — T Ve R 1 D a2 B (B ER) 188,545 M km
FER L — T VIR 1 D MRk Pk B (T HER) 189,842 M km
FRERE S — T VIE R 1 D e e 2 (R 202,803 M/ km
FRERE T VIER 1 v i B PR 190,490 M km
FRERE T — 7 VIE R 1 Do Ex PR B CFr i IR 168, 456 M km
kR e — TV IE R 1 0 Ji %R A (8 R 180,769 M km
FRkRE T — T VIR 1 D W Ek e B (IR 181,417 M,/ km
FkR S — T VR 1 D Pr e B (f JF R 169,752 M, km
ok R e — T LV E R 1 D i B PR A (1 AL R 187,249 M /knm
ik ) £

e
1_
=
R
B

2N —7 VI E 1 (£ 8 1) 178, 825

\
/

M km
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FER L — T VIR 1 D i ER PR e B (I B R 178,825 M, km
ok R e — T VEE R 1 D i F% R A (R 186,601 M km
kRO — 7 LV E R 1 0 Jie E% AR () 179,473 M/ km
kRO — 7 LV IE R 1 D i w2 (ZH IR 178,825 M km
FER S — T VIR 1 D M Ex PR B (R 172,344 M, km
FkR S — T VR 1 D hi e PR B (RUHER ) 169,752 M, km
RO — 7 VT K1 0 f % PR 4 (R RO 180,121 M /km
FAER L — 7 VL E 1 D ff % PR 4 (I JE R 172,992 M /knm
kR — T VIR D MRk R 2 (RER) 172,344 M/ km
Fflk R — T VIE R D i Ex Pr e (Fn R IR 174, 288 M/ km
Hik R — T VIR 1 D bRk R e (S ER) 158,735 M km
kRO — 7 LV IE R 1 0 g 7R AR (R ) 158,087 M /km
kR — T VIE R 1 D hi e PR B (i ) 165,864 [, km
FkR S — T VR 1 D M ax e B (IR R 159,383 M, km
Hik R — T VR 1 D Rk R e (PR 164,568 M km
kR — 7 VT E 1 D i Ek A (TR R R 169,752 M /km
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=
R
B

WK r —7 LV EE R 1 kn4 7=

\
/

2
==
i

N~—

318, 598

HRkERE =T VIR D iR PR A (B IR 172, 344 M/ km
FRERE S — T VIER 1 D e 2 (BERE) 166, 512 M/ km
kRO — 7 VI K1 0 Ji g% AR (F R 166,512 M km
kRO — 7 VI R 1 0 s 5% R A (1@ ) 166,512 M /km
FER S — T VIR 1 D M PR B (R 164,568 M, km
kR — T VIE R 1 D i ax Pr e B (R R 159,383 H ,knm
RO — 7 VT K1 D ff % PR 4 (RE R IR) 157,439 M /knm
Hik R — T VR 1 D i PR e (KR 158,735 M km
kR — T VIR D i Ex Ok B (R IR R 156,143 M km
Fflk R — T VIE R Dk R (BIRER) 155, 495 M/ km
FRERE S — 7 VIE R 1 e e 2 E (PhHIR) 147,718 M km
WENr — 7 VR 1 knY 720 fE % k2 (dbiFnE) 330,347 M km
MR T —7 VIEE 1knY 720 ik a2® (FH&F) 312,071 M km
WE r —7 VIER 1knY 72 exfae®d (8 FR) 323, 820 M km
MIECr — 7 VER 1 kn 72 0 fi ik k& & (CF 4R 339, 484 M km
" S

M km
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WEIE e — 7 VIR R 1 0 i % R A (LR 329,041 M/ km
WwEXsr —7 ViEER 1 DRt E (EER) 334, 263 M/ km
WIEX 7 —7 VR 1 D ER PR B (KR 352,538 M/ km
WKy — 7 VIR R 1 0 i % PR A B (R R 348,622 M /km
WK r — 7 VIER 1 D R R e (BER ) 343,401 M km
WMEX T —7 VIEER 1 D xR e (B ER) 369,508 M km
WIS r — 7 VIR R 1 R (T EER) 372,119 M /km
WKy — 7 VIR R 1 0 i %R A F () 398,227 M /km
WEJE e — 7 VIE R 1 D i % PR A (AR ITIR) 373,425 M/ km
WwEX s —7 ViR 1 D ek 2 E iR R) 329, 041 M/ km
WEX 7T —7 VR 1 D i Ex e 2 (F R 353, 844 M/ km
WEJE e — 7 VIE R 1 D MR R A E (AR 355,149 M/ km
WK e — 7 VIE R 1 D i %R A (fE R 331,652 M /km
WEJE e — 7 VIE R 1 i % PR A (1B R 366,898 HM km
WEX 7y —7 ViEE 1 DRk EE (EFR) 349, 928 M/ km
HWEX 7y —7 ViEE 1 D eI 2 (I BOR) 349, 928 M/ km
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WMEXTF —7 VIR 1knY 720 Exfka2dE (FFME) 365, 592 M/ km
WEE 7y — 7 VR 1 knY 72V Jii5x Pk 2% (2 50 0R) 351,233 M/ km
MEX 7T —7 VR 1knY 720 figkfr 28 (ZHEER) 349,928 M/ km
MRy — 7 VIERE 1 km¥ 72 0 fE kR AR (R 336,874 M km
WIEN 7y —7 VIER 1 knYY 720 ekt 2% (RET) 331,652 M/ km
MEEr — 7 VER 1 km 72 0 fi gk Ok =& (KRBT 352,538 M knm
WMEX T —7 AV IER 1 knY 720 exfaed (KER) 338,179 M/ km
WMEX T —7 VIER 1knY 72 ixfkaed® (BRRR) 336, 874 M/ km
WMEX T —7 VIR 1knY 720 A2 E (Fnakl®) 340, 790 M/ km
WMEX 7 —7 VIR 1 knY 720 gk fr 2% (FECER) 309, 461 M/ km
MIEC 7 —7 VIR 1T knY 720 M sk 2% (BARE) 308,155 M km
WIEe 7y — 7 VR 1 kY 72 0 fii gk fr = % (B 10 IR 323,820 HM km
MEX Y — 7 VERE 1TknS - e ®d (LK) 310,766 [ km
MEX Sy —7 VERE 1TknS 720 ekt es® (Lo k) 321,209 H knm
WMEX T —7 AV IER 1 knY 720 exfaed (ER) 331,652 M/ km
WMEX T —7 VIER 1knY 720 exfkaed® (F)ER) 336, 874 M/ km
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WKt 7 —7 VIERE 1 kn¥Y 72 0 Mg i 2% (ZRE) 325,125 M km
WKL 7 —7 VIEE 1 knY 72 0 Mgk i 2% (@& aiR) 325,125 M /knm
WKL 7 —7 VIE K 1 km¥Y 72 0 M 5% R 2 & (@ [ b)) 325,125 M km
WKL 7 =7 VIERE 1 knY 72 0 Mgk ik 2% (EEE) 321,209 M km
MR r — 7 VIER 1 kmX 72 0 fE G% R 2 E (KR R) 310,766 M km
WKty — 7 VIERE 1 kn¥ 72 0 sk k2 (FEARR) 306,850 M km
WMEX T —7 VIER 1 knY 720 exfaedE (Ko R) 309, 461 M/ km
WKty — 7 VIER 1 knY 72 0 skt 2% (5 IFR) 304,239 M km
WK 7 — 7 VIERE 1 knY 720 sk e2® (ERER 302,934 M /kn
WISt 7 —7 VIE R 1 kn¥Y 72 0 Mgk i 2% (R R) 287,269 M/ kn
B WIE Rk 72 0 JE 3% R 2B 62,651 M, km
FOREKAEEKknY =0 ik ke ® 62,651 HM , km
EOBEAEEKnY 20 ik e® 62,651 M km
LFEEERknY 720 &k 2% 62,651 M/ km
B U6 & B IE & km2 72 0 Bl 5% Ok & & 62,651 [ km
R ) T AE K kmY 72 D fiE R PR 2 A 62,651 [ km
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B 7 A e % R 4 B oo B R bR 0.04635 —
A R RS R B M ER PR A B kT ROE R R 0.04635 —
BB = R W i ER PR e B o iR OE R bR 0.01820 —
Be i i (e & B B1)  JiE 5% PR & By b &% & %0 b R 0.1464 —
BBl s i (In A& ) stk eBd&EERELE (ZREK) -8.007 = A k —
Br ek f (N A Q) k2B EHEE (—REK) 0.04180 -
B A i (ko2 #a ) i Bk Pr 2 B kT R OB BRI R 0.04260 -
Be ek f (T AR B8 ) T SRR B AE R k2 72 0 Bl X IR B 6,545 M km
Be Bl ik (i (T PR B8 ) T PR B I & k2 72 0 Bl i% Ok 2 & 1,333 M knm
B M ek (i (s 38 M R B AR ) Ml B¢ OR 4 2 o6 I & B L R 0.02472 —
e 0m W fi R O A ook O B b R 0.01820 —
L W M 3R R A kP R B b R 0 —
BB K OF 28 B M R P 4 B kP AR B B R 0 —
B it m PR A Fr e O BH L R 0.03514 —
TR 28 E K& OV dn il 5% Or 4 & b & B b =R 0.002115 -
W EEEE (ZBEY 7 bU =7 ) Jio ik k28 & FE LR 0 -
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HOEEEEE (£ oMo EIEEE S E) ks B xR E R R 0 —
B LAY 0 ERE S B 34| MR
B 1 kmY 72 v E RS AR 36,585 M km
FOEE K 1 koY 720 E B SR 365,539 M km
E DA 1 kmY 72 v E K S BB 787,047 M/ km
HWA Y7 21 knY 70 EKSMHE 4,142 M,/ km
BIRAE K 1 koY 72 0 E K 5 MR 4,142 M/ km
B A 1 km 72 0 OE B S H OB 4,142 M km
EHMAERNAEE 1 Y-V ERS AR 58| M. &
BRI E ST SIEIR S e 0.5 —
G — 7 v R v 2R i R [E] R A Bl =R 0.5 —
B P R O L= B R R OE B bR . 003806 —
i A R S 25 B T F R b R . 003532 —
i PR S 25 B T o e E R b R . 002403 —
R R 2= A T e OB R L R .000902 —
A RO B B AR B o RO R T R . 003806 —
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&t B eE & B B R 0.002004 —
W R B R R OE R R 0.001509 —
B Bk B OF 38 & i < B RE kOB B bR 0.003871 —
T S PO - & = 0.0004021 —
T H . & B K& OVid an it = & ) oeF 3 & B R 0.001193 —
BRI S INTER - e 0.03526 —
1 [t Y 72 0 4% foe B o = S 0| M/ [\l #
1 [EI#R 2 72 0 5 BB i BY O S 2 0| M/ [\l #
L[| Y 72 0 5 AR PR OE R 4,905 1/ [a] ##
(EP T 0.1502 —
B R AR 5K 205 —
= A 52 MUY 25 [8] #j #K 672 ]
Ui AR SR A2 H 8] bk ] b R 0.1466 —
Rk SR A2 H [B] H L B b R 0.2999 —
& B9 AR 2K
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WM T VT F 24. 3 F
HE MR KPR 24.3 4
25 T 7 A 9 gk
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B m (% EEE) 9 GE
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